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11T (A% -8 LTHEHEE

+ T 247

2 ) I /N V5 =] I BETECR [ BAL RREHME
EHAE O T As, t=15cmLL 28.4 3.6 32.0 | m 32
EERRDUE T | As, t=10emlL T 8.5 1.1 9.6 | m® 10
PEH T BEbR AYE 8.9 1.1 10.0 | m’ 10
HHRELT RC-40 3.5 0.4 3.9 m’ 4
HDRELT [ 4.1 0.5 4.6 | m® 5
sy wWHE+ 8.9 1.1 10.0 | m’ 10
e T 8.9 1.1 10.0 | m’ 10
FE AL As 0.34 0.04 04| m® 0.4
PRy As 0.34 0.04 04| m* 0.4
TGRSR - Ly T 0.026 [ 0.003 0.029 | m® 0.03
AT RC-40, t=16cm 8.5 1.1 9.6 | m° 10
RIEIH T FAEERIEAS(13) t=3cm 8.5 1.1 9.6 | m* 10




T T R K

+TH47° 1-1 il As HPPE ¢ 75 DP=0.90m
+TIEE L= 14.2 = 14.2 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s+&[ 0.090
= g ° HHIRH B5H — DP [ 40 [ 0.900
| RC-40 < H1|$REIZE| 1.090
i H2_ [dmile] 1.050
ISR hl [HEREH] 0.410
—t h @ & 0.490
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 14.2 m H720%E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 2.00 X 14.2 m 28.4
St i T As, t=10emLL T 0.60 X 14.2 m? 8.5
| OE T Bk e L 0.60 X 1.050 X 14.2 m’ 8.9
D REL T RC-40 0.60 X 0410 X 14.2 m’ 3.5
HDREL T i -
M RELT b ( 060 X 0490 — 0.090 2 X x,/4)X 142 |m® 4.1
P Vi R
Py wE+ 8.90 — + 09 m® 8.9
FESRALEL As 0.60 X 004 X 14.2 m’ 0.34
FEH As m® 0.34
TEUREE - ALy T 0.023 X 0.04 X 284 m’| 0.026
% T RC-40, t=16cm 0.60 X 14.2 m? 8.5
AR EAs(13)
AR T t=3cm 0.60 X 14.2 m? 8.5




T T R K

+TH47° 1-4 il As PP ¢ 50 DP=0.90m
+ TR L= 1.8 = 1.8 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.060
= g ° HHIRH B5H — DP [ 40 [ 0.900
| RC-40 < H1|$REIZE| 1.060
i H2_ [dmile] 1.020
ISR hl [HEREH] 0.410
—t h @ & 0.460
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 1.8 m H7=viaE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 200 X 1.8 m 3.6
AR EBUE T As, t=10ecmBL F 0.60 X 1.8 m? 1.1
| OE T Bk e L 0.60 X 1.020 X 1.8 m’ 1.1
D REL T RC-40 0.60 X 0410 X 1.8 m’ 0.4
HDREL T i -
M RELT b ( 0.60 X 0460 — 0.060 2 X x,/4)X 1.8 m® 0.5
P Vi R
Py wE+ 1.10 — + 09 m® 1.1
FESRALEL As 060 X 004 X 1.8 m’ 0.04
FEH As m® 0.04
TEUREE - ALy T 0.023 X 0.04 X 3.6 m’| 0.003
B T RC-40, t=16cm 060 X 1.8 m? 1.1
AR EAs(13)
AR T t=3cm 060 X 1.8 m? 1.1




1-2TX PP ¢ 50, 40, 20, 13 &M (K- #H8))
P ke s X K O A K % B | i
[&41]
R)=F LA ¢ 50 1.5 1.5 m
RY)=F LA ¢ 40 73.6 736 | m
Haka
RYTFLLAE ¢ 20 0.6 0.6 m
Ha7k5
RYTFLE ¢ 13 4.4 4.4 m
PP/LR $ 40 1 1 1
PV LR ¢ 40 1 1 ]
PPEJEY ok ¢ 5040 1 1 1
Haka
PVY 4 oh ¢ 20 2 2 &l
#a7k5
PVYroh ¢ 13 2 2 &l
Haka
VPF v ¢ 20 2 2 &
#a7k5
VP¥ v ¢ 13 2 2 &
VEL i)
V7 b — AL SR ¢ 50 1 1 1
SUS= T+
IVEEP ¢ 50 2 &
P H=900
o) JWWA B 132 1 HH
LIS
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EFE YRG5 K4 ¢ 75X ¢ 50 1 1 @
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#a7k5
PP R 537K e ¢ 40X ¢ 13 2 p) 1
~—H—hi 8 fe
TV L $50 640 $20 613
FIRY—h D 1.5 + 736 + 0.6 + 4.4 80.1 | m




1-2TX. PP¢50, 40, 20, 13 5% (&% -#HBh)

g 1 Je OF B K
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[95%]
R)F L SR T ¢ 50 1.5 1.5 m
AT L E iR T ¢ 40 73.6 736 | m
AV F L EAR L ¢ 20 0.6 0.6 m
R F L SR T ¢ 13 4.4 4.4 m
BV %N F—X ok A
PPk T ¢ 50 + 1 1 2 u]
TR F—R ok
PPk T ¢ 40 4+ 1 5 5]
BV %N F—X ok PR
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PPk T o 13 + 4 2 6 5]
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FEOIF R T 650 ! S i
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% e $65LL T 2 2 8]
ERY—R L 80.1 80.1 | m




12T (A% -wBh) LTHEEHEE

L2477

E 2 /NI N S T2 = = 5 BRI (B BREHE
AL BT T As, t=15cmPL F 3.0 147.2 1.2 8.8 160.2 | m 160
SEERBUE T | As, t=10cmPL F 0.9 44.2 0.4 2.6 48.1 | m® 48
P T etk e+ 0.9 33.5 0.3 1.9 36.6 | m’ 40
B RL T RC-40 0.4 7.1 0.1 0.4 8.0 | m’ 8
Y RL T [ 0.4 19.7 0.2 1.1 214 | m® 20
750Gy WE + 0.9 33.5 0.3 1.9 36.6 | m® 40
ST 0.9 33.5 0.3 1.9 36.6 | m’ 40
FRILALBE As 0.04 1.77 0.01 0.11 1.93 | m’ 2
PRI 5y e As 0.04 1.77 0.01 0.11 1.93 | m’ 2
TGV - L5y T 0.003 0.135 0.001 0.008 0.147 | m® 0.1
AT RC-40, t=16cm 0.9 44.2 0.4 2.6 48.1 | m” 48
Ag1H T FAEBRLEAS(13) t=3cm 0.9 44.2 0.4 2.6 48.1 | m® 48




T T R K

+TH47° 1-4 il As PP ¢ 50 DP=0.90m
+ TR L= 1.5 = 1.5 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.060
= g ° HHIRH B5H — DP [ 40 [ 0.900
| RC-40 < H1|$REIZE| 1.060
i H2_ [dmile] 1.020
ISR hl [HEREH] 0.410
—t h | | 0.460
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 1.5 m %7=v¥aE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 200 X 1.5 m 3.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.5 m? 0.9
| OE T Bk e L 0.60 X 1.020 X 1.5 m’ 0.9
D REL T RC-40 0.60 X 0410 X 1.5 m’ 0.4
HDREL T i -
M RELT b ( 0.60 X 0460 — 0.060 2 X x,/4)X 15 m’ 0.4
P Vi R
Py wEt 0.90 — + 09 m® 0.9
FESRALEL As 060 X 004 X 1.5 m’ 0.04
FEH As m® 0.04
VBRI L5 T 0.023 X 0.04 X 3.0 m’| 0.003
B T RC-40, t=16cm 060 X 1.5 m? 0.9
AR EAs(13)
AR T t=3cm 060 X 1.5 m? 0.9
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T T R K

+TH47° 1-5 il As PP ¢ 40 DP=0.65m
+TIEE L= 736 = 73.6 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< pNY _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.048
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|$mEIZE| 0.798
i H2_ | JEfilmE| 0.758
ISR hl [HREH] 0.160
—t h | ® & 0.448
| o
‘\ S
W (
| 5| <
| o
i =
!
\ @D
( 73.6 m H7-0HE)
4 i IR N NI A & = . BN &
S T As, t=15cmEL 2.00 X 73.6 m| 1472
St i T As, t=10emLL T 0.60 X 73.6 m? 44.2
| OE T Bk e L 0.60 X 0.758 X 73.6 m’ 33.5
D REL T RC-40 0.60 X 0.160 X 73.6 m’ 7.1
HDREL T i -
M RELT b ( 060 X 0448 — 0.048 2 X =/4)X 736 |m® 19.7
P Wi R
Py wE+ 33.50 — + 09 m® 33.5
FESRALEL As 0.60 X 004 X 736 m’ 1.77
FEH As m® 1.77
TEUREE - ALy T 0.023 X 0.04 X 147.2 m’| 0.135
% T RC-40, t=16cm 0.60 X 73.6 m? 44.2
AR EEAS(13)
REIRT t=3cm 0.60 X 73.6 m? 44.2
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T T R K

+TH47° 1-8 il As PP ¢ 20 DP=0.65m
+ It E L= 0.6 = 0.6 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.027
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3mEIE| 0.777
i H2_ | defilmE| 0.737
ISR hl [HREH] 0.160
—t h | | 0.427
| o
‘\ S
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\ @D
( 0.6 m H47=0¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 2.00 X 0.6 m 1.2
AR EBUE T As, t=10ecmBL F 0.60 X 0.6 m? 0.4
| OE T Bk e L 0.60 X 0.737 X 0.6 m’ 0.3
D REL T RC-40 0.60 X 0.160 X 0.6 m’ 0.1
HDREL T i -
M RELT b ( 0.60 X 0427 — 0.027 2 X xn,/4)X 0.6 m’ 0.2
P Vi R
Py wE+ 0.30 — + 09 m® 0.3
FESRALEL As 060 X 004 X 0.6 m’ 0.01
FEH As m® 0.01
TEUREE - ALy T 0.023 X 0.04 X 1.2 m’| 0.001
B T RC-40, t=16cm 0.60 X 0.6 m? 0.4
AR EAs(13)
AR T t=3cm 0.60 X 0.6 m? 0.4
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+TH47° 1-9 il As PP¢ 13 DP=0.65m
+ TR L= 4.4 = 4.4 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3REIE| 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | ® & 0422
| o
‘\ S
W (
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\ @D
( 4.4 m H=vHE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 200 X 4.4 m 8.8
AR EBUE T As, t=10ecmBL F 0.60 X 4.4 m? 2.6
| OE T Bk e L 0.60 X 0.732 X 4.4 m’ 1.9
D REL T RC-40 0.60 X 0.160 X 4.4 m’ 0.4
HDREL T i -
M RELT b ( 0.60 X 0422 — 0.022 2 X xn,/4)X 4.4 m® 1.1
P Vi R
Py wE+ 1.90 — + 09 m® 1.9
FESRALEL As 060 X 004 X 44 m’ 0.11
FEH As m® 0.11
TEUREE - ALy T 0.023 X 0.04 X 8.8 m’| 0.008
B T RC-40, t=16cm 0.60 X 4.4 m? 2.6
AR EAs(13)
AR T t=3cm 0.60 X 4.4 m? 2.6
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— v ALY =u
1-3TX PP¢30, 13 &# -8 (KX -#dh)
» . , o
5 T ik MERUREA OB
[&41]
AT $30 61.7 61.7 | m
fork1 fake foks
A)zFL 613 21 + 03 + 22 1.6 m
frk1 farke forks
PPF—X 630X ¢ 13 1+ 1 + 1 3 1
PPk 630 2 2 | fA
fark1 farke forks
PV Aok 013 1+ 1 + 1 3 1
fork1 farke foks
VPF vy 013 1+ 1 + 1 3 1
~—J1—Hi 3 3 &
TV L 630 o13
EHRY—R T 61.7 + 4.6 66.3 | m
[57%]
RYZFL AT ¢ 30 61.7 61.7 | m
R)TFL BT ¢ 13 4.6 1.6 m
TR F—=X ok
PPfkF T $30 + 6+ 4 10 5]
TR F—=X ok
PPk T 613 + 3 + 6 9 5]
VP
TSHETF T 613 3 3 5]
EIRY—R T 66.3 66.3 | m
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1-3 LK (A% -8y LTHEHEE

+ T 247

2 ) I /N V5 = = BETECR [ BAL RREHME
EHAE O T As, t=15cmLL 123.4 9.2 132.6 | m 130
EERRDUE T | As, t=10emlL T 37.0 2.8 39.8 | m® 40
PEH T BEbR AYE 27.8 2.0 29.8 | m’ 30
HHRELT RC-40 5.9 0.4 6.3 | m’ 6
HHRELT w 16.3 1.2 175 | m® 20
7y W+ 27.8 2.0 29.8 | m® 30
B T 27.8 2.0 29.8 | m’ 30
PRSP As 1.48 0.11 1.59 | m’ 2
PRy As 1.48 0.11 1.59 | m* 2
TGRSR - Ly T 0.114 [ 0.008 0.122 | m® 0.1
AE T RC-40, t=16cm 37.0 2.8 39.8 | m* 40
RIEIH T FAEERIEAS(13) t=3cm 37.0 2.8 39.8 | m” 40




T T R K

+TH47° 1-6 il As PP ¢ 30 DP=0.65m
+TIEE L= 617 = 61.7 m
W
BEERAs t=4cm EHI | BR REI8 BAEFHiAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.042
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|$REIZE| 0.792
i H2_ | JEfilmE| 0.752
ISR hl [HREH] 0.160
—t h | ® & 0442
| o
‘\ S
W (
1 s| =
! 8
; —
\ @D
( 61.7 m H7=0EE)
4 i IR N NI A & = . HA % =
S T As, t=15cmEL 2.00 X 617 m | 1234
St i T As, t=10emLL T 0.60 X 61.7 m? 37.0
| OE T Bk e L 0.60 X 0.752 X 61.7 m’ 27.8
D REL T RC-40 0.60 X 0.160 X 61.7 m’ 5.9
HDREL T i -
M RELT b ( 060 X 0442 — 0.042 2 X =,/4)X 617 |m’ 16.3
P Wi R
Py wE+ 27.80 — + 09 m® 27.8
FESRALEL As 0.60 X 004 X 61.7 m’ 1.48
FEH As m® 1.48
TEUREE - ALy T 0.023 X 0.04 X 1234 m’| 0.114
% T RC-40, t=16cm 0.60 X 61.7 m? 37.0
AR EEAS(13)
REIRT t=3cm 0.60 X 61.7 m? 37.0
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T T R K

+TH47° 1-9 il As PP¢ 13 DP=0.65m
+ TR L= 2.1 +03 +2.2 = 4.6 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3REIE| 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | | 0.422
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 4.6 m H7-0HE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 2.00 X 4.6 m 9.2
AR EBUE T As, t=10ecmBL F 0.60 X 4.6 m? 2.8
| OE T Bk e L 0.60 X 0.732 X 4.6 m’ 2.0
D REL T RC-40 0.60 X 0.160 X 4.6 m’ 0.4
HDREL T i -
M RELT b ( 0.60 X 0422 — 0.022 2 X xn,/4)X 4.6 m’ 1.2
P Vi R
Py wE+ 2.00 — + 09 m® 2.0
FESRALEL As 060 X 004 X 46 m’ 0.11
FEH As m® 0.11
TEUREE - ALy T 0.023 X 0.04 X 9.2 m’| 0.008
B T RC-40, t=16cm 0.60 X 4.6 m? 2.8
AR EAs(13)
AR T t=3cm 0.60 X 4.6 m? 2.8
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1K PP¢50, 30 &hf-9% (K% #ibh)

W B fe O B

4 Fr Hirs B B | W
[##4]
R =F L ¢ 50 19.2 + 1.6 + 16.2 370 | m
RYTF LG ¢ 30 6.3 6.3 m
PP/ AR ¢ 50 2 2 1
PPLAE ¢ 30 1 1 18
PPF—X 50X ¢ 50 1 1 1
PP ok $50X40 1 1 1
PPEJEY 7 b ¢ 50X 30 1 1 1
PPV vb ¢ 30 1 1 1
FRIR ¢ 50 19.2 + 16.2 354 | m
PR ¢ 30 6.3 6.3 m
[ %]
RYTF L EHR T ¢ 50 37.0 370 | m
FYTF L EHR T ¢ 30 6.3 6.3 m
BV %N F—R ik
PPk T T ¢ 50 4 + 3 2 9 5]
LR F—= ik
PPk T. ¢ 40 + 1 1 I
BV %N F—R ik
PPk T T ¢ 30 2+ 3 5 8]
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1 T (% -8 T IHEHEE

‘ + T 2147 GRtEE AL EREME
4 R FIZ2E 7 N N 7% 1-6
(CHERER)
AL W T As, t=15cmPA T 2.0 20| m 2
SHIERREREE T | As, t=10cmPL T 0.6 0.6 | m? 1
HEHEI LT bk g+ 0.2 0.2 | m* 0.2
D REL T RC-40 0.1 01| m® 0.1
Vo ATas e+ 0.2 0.2 | m* 0.2
T 0.2 0.2 | m* 0.2
FEBHALER As 0.02 0.02 | m’ 0.02
RIS As 0.02 0.02 | m’ 0.02
G VR - ALy T 0.002 0.002 | m? 0.002
BRAE T RC-40, t=15cm 0.6 0.6 | m? 0.6
RAEIH T FABRI FEAS(13) t=3cm 0.6 0.6 | m? 0.6




T T R K

+TH47° | RER1-6 il As PP ¢ 50 DP=0.30m
+ It E = 1.0 = 1.0 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.060
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < H1 |4miE| 0.360
i 2 [dmile] 0.320
5 hl | HEHM| 0.180
i
i
i
D _
i o
i
i
i
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 1.0 m 2.0
SEERRIE T As, t=10cmPL T 0.60 X 1.0 m? 0.6
| OE T Bk e L 0.60 X 0.320 X 1.0 m’ 0.2
HBRLT RC-40 ( 0.60 X 0.180 — 0.060 2 X x,/4)X 1.0 m® 0.1
HDREL T i -
M RELT b
P Wi R
Py WHE T 020 — + 09 m® 0.2
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
WA T RC-40, t=15cm 0.60 X 1.0 m? 0.6
AR EEAS(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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¥ ALY
1TX PP¢50, 40, 30, 20, 13 &4f- 5% (= -#idh)
) . ‘
b F itk M B S U R e
[%#4]
[55%]
(6]
AV F LU EREL ¢ 50 37.0 370 | m
(2
RIF LR ET ¢ 40 53.8 53.8 m
(6] 3)
RV F L EHET ¢ 30 6.3 + 53.1 59.4 m
(2
AV F LU ERET $20 7.9 7.9 m
2 3)
R F L EHET ¢ 13 3.0 + 5.3 8.3 m
50 40 30 20 613
Wy BT TAF v 37.0 * 1.216 + 53.8 * 0.788 + 59.4 * 0.595 + 7.9 * 0.269 + 8.3 * 0.184 126 kg
PP /LAR(1) PPF—A(1)
WA T ¢ 50 2 X 3.170 + 1 X 4.770 11.11 kg
BB oML PP /LAR(2) HPRL(2)
HEGRRAI T ¢ 40 1 X 2660 + 4 X 2.155 + 1 X 1.220 12.50 kg
B o1 PP LAR(1) PP (1) PPF—X(3)
WA T ¢ 30 1 X 2370 + 1 X 1470 + 1 X 1250 + 2 X 1.61 8.31 kg
PP /LR(2) PVY 4y N2) PPF—(2) BB o N2)
FGRR I T T ¢ 20 5 X 0490 + 2 X 0.545 + 1 X 2480 + 1 X 1.330 7.35 kg
PPEAARER) PV N2) PPF—X(2) PPz /L7R(3) PV roN3)
WA T ¢ 13 4 X 0340 + 2 X 0375 + 2 X 2330 + 4 X 034 + 2 X 0.375 8.88 kg
HPRr797 &t 48.15 | kg
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_ZZ_

1T (e -figh) LIHEHEE

+ T 247

2 ) I /N V5 e aT e BETECR [ BAL RREHME
TR T As, t=15ecm LA T m
EERRDUE T | As, t=10emlL T 0.6 0.9 1.5 | m* 2
PEH T BEbR AYE 0.2 0.3 0.5 | m’ 0.5
HHRELT RC-40 0.1 0.1 0.2 | m* 0.2
7y W+ 0.2 0.3 0.5 | m* 0.5
B T 0.2 0.3 0.5 | m* 0.5
FE AL As 0.02 0.03 0.05 | m’ 0.1
PRIy As 0.02 0.03 0.05 | m’ 0.1
AT RC-40, t=16cm 0.6 0.9 1.5 | m® 2
RAEIH T FAEERIEAS(13) t=3cm 0.6 0.9 1.5 | m® 2




+ T ¥ & %
+Ta47° =2 Wil As PP ¢ 50 DP=0.30m
&)
+ TR L= 1.0 = 1.0 m
W
BEE%As t=3cm EEl | BR RIEIE BAEZFHAs t=3cm
8 I | % 8
T
: BRAET -
i RC-40 =
!
i A
| W [#fliE]_0.600
a ! D1 [&s&[ 0.060
= 2| ° RN BRM — DP [ 40| 0.300
i RC-40 < H1 |4miE| 0.360
H2 [#mile] 0.330
hl | HEM| 0.170
=
y =0
! v
\ @D
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
BT
SEERRIE T As, t=10cmPL T 0.60 X 1.0 m? 0.6
oM T Bk RYE ( 0.60 X 0330 — 0.060 2 X x,/4)X 1.0 m® 0.2
D REL T RC-40 0.60 X 0.170 X 1.0 m’ 0.1
HDREL T WA
M RELT b
EEl Wi R
Py W+ 020 — + 09 m® 0.2
FESRALEL As 060 X 003 X 1.0 m’ 0.02
FEH As m® 0.02
15 IRTER - L5y T
WA T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EEAS(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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+ T ¥ & %
+Ta47° 3 Wil As PP ¢ 40 DP=0.30m
(2)
+ TR L= 1.5 = 1.5 m
W
BEE%As t=3cm EEl | BR RIEIE BAEZFHAs t=3cm
8 I | % 8
T
: BRAET -
i RC-40 =
!
i A
| W [#fliE]_0.600
a ! D1 [&s&[ 0.048
= 2| ° RN BRM — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.348
H2 [#miles| 0.318
hl | #REM| 0.158
=
y =0
! v
\ @D
( 1.5 m %7=v¥aE)
4 Fr IR N NI A & = . BN &
BT
SEERRIE T As, t=10cmPL T 060 X 1.5 m? 0.9
oM T Bk RYE ( 0.60 X 0318 — 0.048 2 X x,/4)X 15 m® 0.3
D REL T RC-40 0.60 X 0.158 X 1.5 m’ 0.1
HDREL T WA
M RELT b
EEl Wi R
Py W+ 0.30 — + 09 m® 0.3
FESRALEL As 060 X 003 X 1.5 m’ 0.03
FEH As m® 0.03
15 IRTER - L5y T
WA T RC-40, t=16cm 060 X 1.5 m? 0.9
AR EEAS(13)
AR T t=3cm 060 X 1.5 m? 0.9
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1-1T.X HPPE ¢ 75, PP $ 20, 13 &# 5%

(A<Ex - BiAh)

b B ik WE R U X OB
AEEK AR =T LA ¢ 54 %
[&41] 21.8 m 21.8 | m
P o)
EF% N EE ¢ 75 4+ 1 5 i
fa/K3
R)z=F L4 $20 1.9 1.9 m
fak1 fake
R)z=F L4 613 1.2 + 1.9 3.1 m
PVatrk ¢ 75 1 1 1
fa/K3
PVY ok $20 1 1 JE]
fak1 fake
PVY ok ¢ 13 2 4+ 1 3 1A
fa7K3
VP¥ v ¢ 20 1 1 IES|
fak1 fake
VPX vy ¢ 13 2 o+ 1 3 F[E|
PE 52 FIAF FfhD
VTR — A AR 675 1 e
PR H=900
IR EE JWWA B 132 1 i
F RIS
IR EE PR25 (K) 2 2 L&
b
IR EE RA25 (A) 1 1 &
T EE
-l RC25(C) 1 1 {8
JEChR
o) FeE RS25 (S) 1 1 {8
fa/K3
EFE YRk ¢ 75X ¢ 20 1 1 L&
fak1 fake
EFE YR AEE] 075X ¢ 13 2+ 1 3 1A
~—h—k 5 5 F[E5]
TILHHEL | HPPEGT5  PP¢20 PP 13
FIRY—h POz 21.8 + 19 + 3.1 26.8 | m
[ %]
RY=F L AR T 675 21.8 21.8 m
RY=F L AR T ¢ 20 1.9 1.9 m
RY=F L AR T 613 3.1 3.1 m
W ) TR
Rl P Ak ¢ 75 4+ 1 o+ 1 6 i
s F—Z  Vrub FR
PPiikT-T. 20 + + 2+ 1 3 =
TR F—A Yok Frv
PPikTFT. 013 + + 6+ 3 9 ]
VPF vy
TSHEF T 620 1 1 m]
VPE vy
TSHEF T 613 3 3 A
PVVafrk
A= HNAEET 675 2 2 m]
EFE
Gy kAU T 675X ¢ 20 1 1 i
EFE
Gy kAU T 675X ¢ 13 3 3 i
LORBIET | 0T I LB
RS — L 26.8 268 | m
VPE B T 675 1 1 m]
RY=FL YT 675 1 1 =]
$ 75
RENS e BETIAFYr 40 X 23 9 kg
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-1 TX (RE% - M)
HPPE 6 75mm
HPPE ¢ 75| HPPE ¢ 75| HPPE ¢ 75 PEF O fF| v7he—n EFF 5 ~_UR EF s~ R EF EF EF PP XA | Rk Rk EF EF PV PILR
STEAE O Lo BEEERY twno 907 457 22° | 11° ) 90° 457 22° | 110 @R | W% | F | veteh 77w SRR ST Vrob o7 vk (BEH
EE | (m | (m T | A 1/2 | 1/4 1/2 | 1/4 | F—X |52 SR tost VP
(&N 015x075 675 | 75 ¢T5 | 675 75 75| dT5 G765 G T5 |emxems ewoxers| erxn] 75| 75 675 dT5 675 ¢ 75| ¢ 75
1=5.0m ) ) O € A ) ) O R ) ¢ M € ) ) A € M ) M ) ) A ) I A ¢ DI )
1.00 1 1 1.78
1 21.78
s 4.0 1.00 1 1
B 5 0.71 0.78 0.495 0.47 0.375 0.355 0.39 0.365 0.270 0.250 0.112 0.31 0.9 0.09 0.3 Ak 1.
SR 20 1 0.78 L= 21.78




ALZA

11 TR (K- Hh) g B R E
HPPE ¢ 75 ( L =5.00m,/ K )
H)E oY) g A B[Ol T pRE K| PO oY) KK Dol TR E R
m A A m m A ) m
1.00 1 1 4.00

4.00




_88_

11T X (AR - BH) ETHEHREE

& B %ok F — — — L LFA7 e AL A
AU T As, t=15cmlL 43.6 3.8 6.2 53.6 | m 54
SEEERRBUE T | As, t=10emPL F 13.1 1.1 1.9 16.1 | m® 16
A T Mk w1 13.7 0.8 1.4 159 | m® 20
M RELT RC-40 5.4 0.2 0.3 59| m® 6
D REL T b 6.3 0.5 0.8 76| m’ 8
B 4Ly e+ 13.7 0.8 1.4 15.9 | m® 20
Tl T 13.7 0.8 1.4 15.9 | m® 20
FRBRALEE As 0.52 0.05 0.07 0.64 | m® 0.6
B B As 0.52 0.05 0.07 0.64 | m® 0.6
5 R - L4y T 0.040 0.003 0.006 0.049 | m? 0.05
BAE T RC-40, t=16cm 13.1 1.1 1.9 16.1 | m® 16
R IH T AR FEAS(13) t=3cm 13.1 1.1 1.9 16.1 | m® 16




T T R K

+TH47° 1-1 il As HPPE ¢ 75 DP=0.90m
+TIEE L= 218 = 21.8 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s+&[ 0.090
= g ° HHIRH B5H — DP [ 40 [ 0.900
| RC-40 < H1|$REIZE| 1.090
i H2_ [dmile] 1.050
ISR hl [HEREH] 0.410
—t h @ & 0.490
i =
| ™
W (
| 5| <
! 8
; —
\ @D
( 21.8 m H7=vEE)
4 i IR N NI A & = . HA % =
S T As, t=15cmEL 2.00 X 21.8 m 43.6
St i T As, t=10emLL T 0.60 X 21.8 m? 13.1
| OE T Bk e L 0.60 X 1.050 X 21.8 m’ 13.7
D REL T RC-40 0.60 X 0.410 X 21.8 m’ 5.4
HDREL T i -
M RELT b ( 060 X 0490 — 0.090 2 X x,/4)X 218 |m® 6.3
P Wi R
Py wE+ 13.70 — + 09 m® 13.7
FESRALEL As 0.60 X 004 X 21.8 m’ 0.52
FEH As m® 0.52
TEUREE - ALy T 0.023 X 0.04 X 43.6 m’ | 0.040
% T RC-40, t=16cm 0.60 X 21.8 m? 13.1
AR EEAS(13)
REIRT t=3cm 0.60 X 21.8 m? 13.1
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T T R K

+Ta47° 1-8 il As PP ¢ 20 DP=0.65m
+ TR L= 1.9 = 1.9 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.027
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3mEIE| 0.777
i H2_ | defilmE| 0.737
ISR hl [HREH] 0.160
—t h | ® & 0427
| o
‘\ S
W (
i al <
! 8
; —
\ @D
( 1.9 m %7=v%aE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 200 X 1.9 m 3.8
AR EBUE T As, t=10ecmBL F 0.60 X 1.9 m? 1.1
| OE T Bk e L 0.60 X 0.737 X 1.9 m’ 0.8
D REL T RC-40 0.60 X 0.160 X 1.9 m’ 0.2
HDREL T i -
M RELT b ( 0.60 X 0427 — 0.027 2 X xn,/4)X 1.9 m® 0.5
P Vi R
Py wE+ 080 — + 09 m® 0.8
FESRALEL As 060 X 004 X 1.9 m’ 0.05
FEH As m® 0.05
TEUREE - ALy T 0.023 X 0.04 X 3.8 m’| 0.003
B T RC-40, t=16cm 060 X 1.9 m? 1.1
AR EAs(13)
AR T t=3cm 060 X 1.9 m? 1.1
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T T R K

+TH47° 1-9 il As PP¢ 13 DP=0.65m
+TIEE L 1.2 +1.9 = 3.1 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3REIE| 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | ® & 0422
i =
| ™
W (
| 5| <
! 8
; —
\ @D
( 3.1 m H¥7vHE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 2.00 X 3.1 m 6.2
AR EBUE T As, t=10ecmBL F 0.60 X 3.1 m? 1.9
| OE T Bk e L 0.60 X 0.732 X 3.1 m’ 1.4
D REL T RC-40 0.60 X 0.160 X 3.1 m’ 0.3
HDREL T i -
M RELT b ( 0.60 X 0422 — 0.022 2 X x,/4)X 3.1 m® 0.8
P Vi R
Py wE+ 1.40 — + 09 m® 1.4
FESRALEL As 060 X 004 X 3.1 m’ 0.07
FEH As m® 0.07
TEUREE - ALy T 0.023 X 0.04 X 6.2 m’| 0.006
% T RC-40, t=16cm 0.60 X 3.1 m? 1.9
AR EAs(13)
AR T t=3cm 0.60 X 3.1 m? 1.9
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1-3T.X PP 30, 25, 13 & - 5% (A% EiH)

N E IR .
N i MR G HA AL
[&41]
RYTFL oA ¢ 30 2.3 2.3 m
RYTFL oA ¢ 25 29.1 29.1 | m
Kk Hka Kaks k6
AT L 613 03 + 03 + 1.2 + 03 + 05 2.6 m
PPLAE ¢ 30 1 1 18
Ha7k6
PP/LAE 613 1 1 1
PPF—X $30X ¢ 20 1 1 1
fake
PPF—% 630X §13 1 1 fi#
Fhka #h7K5
PPF—X 625X ¢ 13 1+ 1 2 ]
Kk Hka Kaks k6
PVY /4y 613 1+ 1 + 1 + 1 4 1A
[ Haka ks k6
VP¥ v 13 1+ 1+ 1 o+ 1 4 118
PPEEY &b $30X25 1 1 1A
PPEJEY /7w b $25%X13 1 1 1A
~—Hh—*¥ 7 7 1
TIVE AL $30 02 013
EHRY—h P 2.3 + 291 + 2.6 340 | m
[55%]
Rz F LR L 630 2.3 2.3 m
Rz F LR L 625 29.1 29.1 | m
RY=F L EAR L 613 2.6 2.6 m
BV %N F—= ik
PPk T ¢ 30 2 o+ 4+ 1 7 5]
LR F—R ik
PPk T $ 25 + 4+ 2 6 8]
LR F—R ik
PPk T. $ 20 + 1+ 1 I
LR F—= ik
PPAET T ¢ 13 2+ 3 + 9 14 5]
VPFyv 7
TSHETF T 613 4 4 5]
IR —R L 34.0 340 | m
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13T X (A BHl) HTHEFHREE

+ T 247

2 ) | N B V5 T = 5 BETECR [ BAL RREHME
EHAE O T As, t=15cmLL 4.6 58.2 5.2 68.0 | m 68
BRERBEE T | As, t=10ecmLL T 1.4 17.5 1.6 20.5 | m® 21
PEH T BEbR AYE 1.0 13.0 1.1 15.1 | m’ 20
HHRELT RC-40 0.2 2.8 0.2 3.2 | m? 3
HHRELT w 0.6 7.6 0.7 8.9 | m’ 9
sy wWHE+ 1.0 13.0 1.1 15.1 | m’® 20
e T 1.0 13.0 1.1 15.1 | m’ 20
FE AL As 0.06 0.70 0.06 0.82 | m’ 0.8
FEBRA B As 0.06 0.70 0.06 0.82 | m’ 0.8
TGRSR - Ly T 0.004 [ 0.054 | 0.005 0.063 | m® 0.06
AT RC-40, t=16cm 1.4 17.5 1.6 20.5 | m® 21
RIEIH T FAEERIEAS(13) t=3cm 1.4 17.5 1.6 20.5 | m® 21




T T R K

+TH47° 1-6 il As PP ¢ 30 DP=0.65m
+ It E L= 2.3 = 2.3 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.042
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|$REIZE| 0.792
i H2_ | JEfilmE| 0.752
ISR hl [HREH] 0.160
—t h | | 0.442
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 2.3 m H7=¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 200 X 23 m 4.6
AR EBUE T As, t=10ecmBL F 0.60 X 2.3 m? 1.4
| OE T Bk e L 0.60 X 0.752 X 2.3 m’ 1.0
D REL T RC-40 0.60 X 0.160 X 2.3 m’ 0.2
HDREL T i -
M RELT b ( 0.60 X 0442 — 0.042 2 X x,/4)X 2.3 m’ 0.6
P Vi R
Py wE+ .00 — + 09 m® 1.0
FESRALEL As 060 X 004 X 23 m’ 0.06
FEH As m® 0.06
TEUREE - ALy T 0.023 X 0.04 X 4.6 m’| 0.004
B T RC-40, t=16cm 0.60 X 2.3 m? 1.4
AR EAs(13)
AR T t=3cm 0.60 X 2.3 m? 1.4
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T T R K

+TH47° 1-7 il As PP ¢ 25 DP=0.65m
+TIEE L= 29.1 = 29.1 m
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.034
= g ° HHIRH B5H — DP [ 40 [ 0.650
i RC-40 < Hi |4miiE| 0.784
i e [dmile] 0.744
ISR hl [HREH] 0.160
—t h | ® & 0434
i =
| ™
W !
| 5| <
! 8
; —
\ @D
( 29.1 m H7=vEE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 29.1 m 58.2
St i T As, t=10emLL T 0.60 X 29.1 m? 17.5
| OE T Bk e L 0.60 X 0.744 X 29.1 m’ 13.0
D REL T RC-40 0.60 X 0.160 X 29.1 m’ 2.8
HDREL T i -
M RELT b ( 0.60 X 0434 — 0.034 2 X x.,/4)X 29.1 m® 7.6
EEl Wi R
Py W+ 13.00 — + 09 m® 13.0
FESRALEL As 0.60 X 0.04 X 29.1 m’ 0.70
FEH As m® 0.70
TEUREE - ALy T 0.023 X 0.04 X 582 m’ | 0.054
% T RC-40, t=16cm 0.60 X 29.1 m? 17.5
AR EEAS(13)
REIRT t=3cm 0.60 X 29.1 m? 17.5
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T T R K

+TH47° 1-9 il As PP¢ 13 DP=0.65m
+ TR L= 0.5 +0.3 +0.3 +1.2 +0.3 = 2.6 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3REIE| 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | ® & 0422
i =
| ™
W (
1 s| =
! 8
; —
w
( 2.6 m H47=0¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 200 X 26 m 5.2
AR EBUE T As, t=10ecmBL F 0.60 X 2.6 m? 1.6
| OE T Bk e L 0.60 X 0.732 X 2.6 m’ 1.1
D REL T RC-40 0.60 X 0.160 X 2.6 m’ 0.2
HDREL T i -
M RELT b ( 0.60 X 0422 — 0.022 2 X xn,/4)X 2.6 m® 0.7
P Vi R
Py wE+ .10 — + 09 m® 1.1
FESRALEL As 060 X 004 X 26 m’ 0.06
FEH As m® 0.06
TEUREE - ALy T 0.023 X 0.04 X 5.2 m’| 0.005
B T RC-40, t=16cm 0.60 X 2.6 m? 1.6
AR EAs(13)
AR T t=3cm 0.60 X 2.6 m? 1.6
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1-4TX PP¢20, 13 &4 5% (A5k-EAm)

N s = | e
N i WEEUREA AL
[##4]
ARz FL A ¢ 20 11.4 114 | m
HAKT
ARz FL $13 21 + 0.5 2.6 m
HAKT
PPLAE 613 1 1 18
FAKT
PV 4y $13 1 1 1
HAKT
VP¥ ¥/ 613 1 1 1
PPEIEY r ok $20X13 1 1 J[E
PPRAALE T
LT $ 20 1 1 R(E|
P H=650
oS E JWWA B 132 1 1 .
B IS
LI E PR25 (K) 2 2 1
A
Lol E RAC25(CA) 1 L 1
JEER
Lol E RS25 (S) 1 1 ]
~—A—H 3 3 1
TV L 620 013
BHRY—b P 114 + 2.6 140 | m
[ %]
RYTF LG iR T ¢ 20 11.4 114 | m
FYTF L EHR T $13 2.6 2.6 m
BN F—R Virvh Bt
PPk T ¢ 20 + + 1+ 2 3 =]
LR F—R ik
PPk T T $13 2+ + 3 5 8]
VP¥yv
TSHET T $13 1 1 8]
O ERR B T H=650 1 1 T
IR — L 14.0 140 | m
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1-4 T X (A Bl) +THEHREE

+ T 247

2 ) I /N V5 = = BETECR [ BAL RREHME
EHAE O T As, t=15cmLL 22.8 5.2 28.0 | m 28
EERRDUE T | As, t=10emlL T 6.8 1.6 8.4 | m® 8
PEH T BEbR AYE 5.0 1.1 6.1 | m’ 6
HDRELT RC-40 1.1 0.2 1.3 | m’ 1
HHRELT w 2.9 0.7 3.6 | m® 4
sy wWHE+ 5.0 1.1 6.1 | m’ 6
e T 5.0 1.1 6.1 | m’ 6
FE AL As 0.27 0.06 0.33 | m’ 0.3
PRy As 0.27 0.06 0.33 | m’ 0.3
TGRSR - Ly T 0.021 0.005 0.026 | m® 0.03
AT RC-40, t=16cm 6.8 1.6 8.4 | m’ 8
RIEIH T FAEERIEAS(13) t=3cm 6.8 1.6 8.4 | m* 8




+ T ¥ & %
+TH47° 1-8 il As PP ¢ 20 DP=0.65m
+TIEE L= 11.4 = 11.4 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.027
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3mEIE| 0.777
i H2_ | defilmE| 0.737
ISR hl [HREH] 0.160
—t h | | 0.427
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 11.4 m H¥720%E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 2.00 X 11.4 m 22.8
St i T As, t=10emLL T 0.60 X 11.4 m? 6.8
| OE T Bk e L 0.60 X 0.737 X 11.4 m’ 5.0
D REL T RC-40 0.60 X 0.160 X 11.4 m’ 1.1
HDREL T i -
M RELT b ( 060 X 0427 — 0.027 2 X =/4)% 114 |m® 2.9
P Vi R
Py wE+ 5.00 — + 09 m® 5.0
FESRALEL As 0.60 X 004 X 114 m’ 0.27
FEH As m® 0.27
TEUREE - ALy T 0.023 X 0.04 X 22.8 m’| 0.021
B T RC-40, t=16cm 0.60 X 11.4 m? 6.8
AR EAs(13)
AR T t=3cm 0.60 X 11.4 m? 6.8
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T T R K

+TH47° 1-9 il As PP¢ 13 DP=0.65m
+ TR L= 0.5 +2.1 = 2.6 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3REIE| 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | ® & 0422
i =
| ™
W (
| 5| <
! 8
; —
\ @D
( 2.6 m H47=0¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 200 X 26 m 5.2
AR EBUE T As, t=10ecmBL F 0.60 X 2.6 m? 1.6
| OE T Bk e L 0.60 X 0.732 X 2.6 m’ 1.1
D REL T RC-40 0.60 X 0.160 X 2.6 m’ 0.2
HDREL T i -
M RELT b ( 0.60 X 0422 — 0.022 2 X xn,/4)X 2.6 m® 0.7
P Vi R
Py wE+ .10 — + 09 m® 1.1
FESRALEL As 060 X 004 X 26 m’ 0.06
FEH As m® 0.06
TEUREE - ALy T 0.023 X 0.04 X 5.2 m’| 0.005
B T RC-40, t=16cm 0.60 X 2.6 m? 1.6
AR EAs(13)
AR T t=3cm 0.60 X 2.6 m? 1.6
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1T PP¢50, 20, 13 & 5% (R EiH)

% <o , o
5 T ik MERUREA OB
[&41]
RYTF LA ¢ 50 22.1 + 21.9 44.0 | m
Hhk3
RYTF LA $ 20 1.2 1.2 m
fak1 Kk
RYTF LA 613 6.4 + 1.2 7.6 m
PP /LR ¢ 50 10 10 1A
HhKk3
PP /LR $ 20 2 2 1
okl Kk
PP /LR 613 4+ 6 2]
HhKk3
PV yb $ 20 1 1 1
okl Kk
PV ob $13 2+ 3 1l
VPE YRV KRR ¢ 75X ¢ 50 2 2 1
HhKk3
PP RSk ¢ 50X ¢ 20 1 1 1A
okl Kk
PPE YRG5 KA ¢50X ¢13 2+ 3 i
VPH ARy, $— ¢ 75 1 1 2]
PR H=1000
O E JWWA B 132 1 1 L
F RIS
TR PR25 (K) 1 1 i
b
s E RA25(A) 1 1 &
HpE
s E RB25 (B) 1 1 &
T EpRE
s E RC25(C) 1 1 &
JEChR
R E RS25 (S) 1 1 &
PRIR $ 50 18.0 + 18.0 36.0 m
[95%]
AT L E iR T ¢ 50 44.0 440 | m
RYZF L SR T ¢ 20 1.2 1.2 m
AV F L ER T ¢ 13 7.6 7.6 m
BV %N F—X ok A
PPHkF T ¢ 50 20 + + + 2 22 u]
TR F—=X ok
PPk T $20 4+ + 2 o+ 1 7 5]
BV %N F—x Viroh
PPk T o 13 12+ + 6+ 3 21 A
VP& H
Sy ARFE U T ¢ 75X ¢ 50 2 2 fEET
PP A
Sy KRR U T 650X ¢ 20 1 1 EFET
PP H
Sy KRR U T $50X ¢ 13 3 3 T
VPE
AWK V7 T 675 1 1 T
fEEI P ERRE T H=1000 1 1 T
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1 TX (% -BM) +TITHEHEE

T T¥ A7 ARt (B BREMIE
4 R i NI NS (15 | izl =6 | X 1-10 [ X111 o
(HRERIE) | HHERE) | (HEERE) | (HEER )

Sl BT T As, t=15cmEL T 2.0 10.4 1.0 11.8 2.0 27.2 [ m 27
SERRIUE T, | As, t=10cmPh F 0.6 3.1 0.3 3.5 0.6 8.1 | m 8
AT Btk #E 1 0.6 1.0 0.1 1.0 0.7 3.4 [ m’ 3
B REL LT RC-40 0.5 0.5 0.04 0.5 0.3 1.8 | m’ 2
B REL LT W 0.3 03| m’ 0.3
B gy WE 1+ 0.6 1.0 0.1 1.0 0.7 34| m’ 3
BT 0.6 1.0 0.1 1.0 0.7 3.4 | m’ 3
FRURALEE As 0.02 0.12 0.01 0.14 0.02 0.31 | m’ 0.3
FRBRAL S As 0.02 0.12 0.01 0.14 0.02 0.31 | m’ 0.3
TGV - L5y T 0.002 0.010 0.001 0.011 0.002 0.026 | m® 0.03
BAE T RC-40, t=15cm 0.6 3.1 0.3 3.5 75| m’ 8
AR T RC-40, t=16cm 0.6 0.6 | m” 0.6
RAE IR LT FAEZREAS(13) t=3cm 0.6 3.1 0.3 3.5 0.6 8.1 [ m® 8




+ T ¥ & %
+TH47° | RER1-5 il As PP ¢ 50 DP=1.00m
+ TR = 0.5 +0.5 = 1.0 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.060
= 2| ° HHIRH B5H — DP [ 4w [ 1.000
i RC-40 < Hi |4mi0E| 1.060
i H2_ [dmile] 1.020
5 hl | HREH| 0.880
i
i
i
D _
| (=)
i
i
i
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 1.0 m 2.0
SEERRIE T As, t=10cmPL T 0.60 X 1.0 m? 0.6
| OE T Bk e L 0.60 X 1.020 X 1.0 m’ 0.6
HBRLT RC-40 ( 0.60 X 0880 — 0.060 2 X x,/4)X 1.0 m® 0.5
HDREL T i -
M RELT b
P Wi R
Py WHE T 0.60 — + 09 m® 0.60
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
WA T RC-40, t=15cm 0.60 X 1.0 m? 0.6
AR EEAS(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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T T R K

+TH47° | RER1-6 il As PP ¢ 50 DP=0.30m
+ TR = 2.5 +2.7 = 5.2 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.060
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < H1 |4miE| 0.360
i 2 [dmile] 0.320
5 hl | HEHM| 0.180
i
i
i
D _
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i
i
i
( 52 m H¥70HE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 200 X 52 m 10.4
SEERRIE T As, t=10cmPL T 0.60 X 5.2 m? 3.1
| OE T Bk e L 0.60 X 0.320 X 5.2 m’ 1.0
HBRLT RC-40 ( 0.60 X 0.180 — 0.060 2 X x,4)X 5.2 m® 0.5
HDREL T i -
M RELT b
P Wi R
Py WHE T 1.00 — + 09 m® 1.0
FESRALEL As 060 X 004 X 52 m’ 0.12
FEH As m® 0.12
TEUREE - ALy T 0.023 X 0.04 X 104 m’| 0.010
WA T RC-40, t=15cm 0.60 X 5.2 m? 3.1
AR EEAS(13)
AR T t=3cm 0.60 X 5.2 m? 3.1
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+Ta47° | fER1-10 Wl As PP ¢ 20 DP=0.30m
+ It E = 0.5 = 0.5 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
[
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.027
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.327
i 2 [dmile] 0.287
5 hl MR 0.147
i
i
i
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i
i
i
( 0.5 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 0.5 m 1.0
SEERRIE T As, t=10cmPL T 0.60 X 0.5 m? 0.3
| OE T Bk e L 0.60 X 0.287 X 0.5 m’ 0.1
HBRLT RC-40 ( 0.60 X 0147 — 0.027 2 X xn,/4)X 05 m® 0.0
HDREL T i -
M RELT b
P Wi R
Py WHE T 0.10 — + 09 m® 0.10
FESRALEL As 060 X 004 X 05 m’ 0.01
FEH As m® 0.01
TEUREE - ALy T 0.023 X 0.04 X 1.0 m’| 0.001
WA T RC-40, t=15cm 0.60 X 0.5 m? 0.3
AR EEAS(13)
AR T t=3cm 0.60 X 0.5 m? 0.3
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+TA47° | fER1-11 Wl As PP ¢ 13 DP=0.30m
+ TR = 54 +0.5 = 5.9 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D15 0.022
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
i
i
i
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i
( 5.9 m H¥70HE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 59 m 11.8
SEERRIE T As, t=10cmPL T 0.60 X 5.9 m? 3.5
| OE T Bk e L 0.60 X 0.282 X 5.9 m’ 1.0
HBRLT RC-40 ( 0.60 X 0142 — 0.022 2 X x,/4)X 5.9 m® 0.5
HDREL T i -
M RELT b
P Wi R
Py WHE T 1.00 — + 09 m® 1.00
FESRALEL As 060 X 004 X 59 m’ 0.14
FEH As m® 0.14
TEUREE - ALy T 0.023 X 0.04 X 11.8 m’| 0.011
WA T RC-40, t=15cm 0.60 X 5.9 m? 3.5
AR EEAS(13)
AR T t=3cm 0.60 X 5.9 m? 3.5
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+TH47° 1-3 il As VP ¢ 75 DP=1.00m
+ TR L= 1.0 = 1.0 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
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|
i
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a ! D1 [&s&[ 0.089
= g ° HHIRH B5H — DP [ 4w [ 1.000
| RC-40 < H1|3mEIZE| 1.189
i 2 [dmile] 1149
(RS hl | HEH] 0.510
—t h | | 0.489
| o
‘\ S
W (
| 5| <
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\ @D
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 2.00 X 1.0 m 2.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.0 m? 0.6
| OE T Bk e L 0.60 X 1.149 X 1.0 m’ 0.7
D REL T RC-40 0.60 X 0.510 X 1.0 m’ 0.3
HDREL T i -
M RELT b ( 0.60 X 0489 — 0.089 2 X x,/4)X 1.0 m’ 0.3
P Vi R
Py wEt 0.70 — + 09 m® 0.7
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
B T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EAs(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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1TX PP¢50, 20, 13 &M - 1% (- Bih)

g 1 Je OF B K

4 R Hikg B & | w
[&41]
fia &RV 4y ke
Fyv7 ¢ 50 2 2 il
[7#]
HE RCIABES T ¢ 50 2 2 5]
RITF L ET $ 50 44.0 44.0 m
R)TF L S ET ¢ 20 1.2 1.2 m
RYTF L EMET ¢ 13 7.6 7.6 m
¢ 50 ¢ 20 ¢ 13
W% BFIAF v 44.0 % 1.216 + 1.2 * 0.269 7.6 % 0.184 55 kg
PP /LR
Hetkrr77 $ 50 10 X 3.170 31.70 | ke
PP/LR PVY/roh A
HRr 797 ¢ 20 2 X 0490 + 1 X 0545 + 1 X 2.000 3.53 | kg
PP /LR PV ok A2
HRr 797 013 6 X 0.340 + 3 X 0375 + 3 X 1.700 8.27 | kg
AT At 43.49 | kg
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1T (e -BHim) +ITHEFRES

+ T 247

2 ) I /N V5 EFT T T | e | o BETECR [ BAL RREHME
EHAE O T As, t=15cmLL 2.0 2.0 | m 2
BRERBEE T | As, t=10ecmLL T 0.6 3.1 8.3 0.6 12.6 [ m® 13
PEH T BEbR AYE 0.6 1.0 2.4 0.7 4.7 | m’ 5
HHRELT RC-40 0.5 0.5 1.1 0.3 2.4 | m’ 2
HHRELT w 0.3 03| m* 0.3
7y W+ 0.6 1.0 2.4 0.7 4.7 | m’ 5
B T 0.6 1.0 2.4 0.7 4.7 | m’ 5
FE AL As 0.02 0.09 0.25 0.02 0.38 | m’ 0.4
FEBRA B As 0.02 0.09 0.25 0.02 0.38 | m* 0.4
TGRSR - Ly T 0.002 0.002 | m® 0.002
AE T RC-40, t=16cm 0.6 3.1 8.3 0.6 12.6 | m” 13
RIEIH T FAEERIEAS(13) t=3cm 0.6 3.1 8.3 0.6 12.6 | m® 13




T T R K

+THa47 eI Wil As VP ¢ 50-PP ¢ 50 DP=1.00m
o) 1
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W
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| W [#fliE]_0.600
a ! D1 [&s&[ 0.060
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i RC-40 < Hi |4mi0E| 1.060
H2 [#RHEI&] 1.030
hl | #REHM| 0.870
=
y =0
! v
\ @D
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
SRAELINr T As, t=15cmbL T
SEERRIE T As, t=10cmPL T 0.60 X 1.0 m? 0.6
oM T Bk RYE ( 0.60 X 1.030 — 0.060 2 X x,/4)X 1.0 m® 0.6
D REL T RC-40 0.60 X 0.870 X 1.0 m’ 0.5
HDREL T WA
HDREL T wh
EEl Wi R
Py W+ 0.60 — + 09 m® 0.6
FESRALEL As 060 X 003 X 1.0 m’ 0.02
FEH As m® 0.02
15 IRTER - L5y T
WA T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EEAS(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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T T R K

+Ta47° =2 Wil As PP ¢ 50 DP=0.30m
) 1
+ TR L= 2.7 +25 = 5.2 m
W
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: BRAET
i RC-40 3
!
i A
| W [#fliE]_0.600
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H2 [#RHEI&] 0.330
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( 52 m H¥70HE)
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SRAELINr T As, t=15cmbL T
AR EBUE T As, t=10ecmBL F 0.60 X 5.2 m? 3.1
oM T Bk RYE ( 0.60 X 0330 — 0.060 2 X x,4)X 5.2 m® 1.0
D REL T RC-40 0.60 X 0.170 X 5.2 m® 0.5
HDREL T i -
HDREL T wh
P Vi R
Py W+ 1.00 — + 09 m® 1.0
FESRALEL As 060 X 003 X 52 m’ 0.09
FEH As m® 0.09
15 IRTER - L5y T
% T RC-40, t=16cm 0.60 X 5.2 m? 3.1
BB FEAs(13)
AR T t=3cm 0.60 X 5.2 m? 3.1
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BEE%As t=3cm EHI | BR REIE BAEFHIAs t=3cm
8 I | % 8
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H2 [#RHEI&] 0.292
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( 13.9 m H¥70¥E)
4 Fr IR N NI A & = . BN &
SRAELINr T As, t=15cmbL T
St i T As, t=10emLL T 0.60 X 13.9 m? 8.3
oM T Bk W+ ( 060 X 0292 — 0.0222 X =n,/4)X 139 |[m® 2.4
D REL T RC-40 0.60 X 0.132 X 13.9 m’ 1.1
HDREL T WA
HDREL T wh
EEl Wi R
Py wE+ 240 — + 09 m® 2.4
FESRALEL As 0.60 X 0.03 X 139 m’ 0.25
FEH As m® 0.25
15 IRTER - L5y T
% T RC-40, t=16cm 0.60 X 13.9 m? 8.3
AR EEAS(13)
AR T t=3cm 0.60 X 13.9 m? 8.3
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hl | #EHM| 0510
v h W w| 0.489
8 D2 | &M% 0.089
B =1
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!
w
( 1.0 m H7=v%aE)
4 Fr IR N NI A 7 = . BN &
SHLEGT T As, t=15embL T 200 X 1.0 m 2.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.0 m? 0.6
oM T Bk RYE ( 0.60 X 1.120 — 0.060 2 X x,/4)X 1.0 m® 0.7
D REL T RC-40 0.60 X 0.510 X 1.0 m® 0.3
HDREL T i -
M RELT b ( 0.60 X 0489 — 0.089 2 X x,/4)X 1.0 m® 0.3
P Vi R
Py wE+ 0.70 — + 09 m® 0.7
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=16cm 0.60 X 1.0 m? 0.6
BB FEAs(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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[&41]
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fak1 Kk
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PPF—X 625X ¢13 3 3 1A
PVYA b ¢ 13 3 3 1A
PP /LR 625 15 15 1A
PP /LR ¢ 13 3 3 i
PVTLAR ¢ 25 1 1 &
DIP YRV 55Kk ¢ 75X ¢ 25 1 1 &
PPERALETe
=7 ¢ 25 1 1 L[E]
fa 4RV oy ke
Fyv7 $25 1 1 2]
PRIRE $ 25 48.2 48.2 m
[55%]
AV F LB R T $25 74.7 747 | m
W)= F L E AL ¢ 13 2.1 2.1 m
TR F—=X ok A% BalL
PPk T ¢ 25 32 + 6 + + 1+ 2 41 5]
BV %N F—x ok A
PPk T ¢ 13 6 + 3 + 6 + 15 =]
DIPE H
Sy KRR U T 675X ¢ 25 1 1 [EEh
HE RCIABES T ¢ 25 1 1 u]
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2T X (a2 Hph) +THEHEE

4 W i NI NS {18 | {iak1-9 | {ieakl-12 {Ea%&iff %;12 ARt (B RREME
(HRERIE) | HERE) | (HEERE) | (R

S BT T As, t=15cmEL T 4.0 43.2 0.6 1.2 2.0 51.0 [ m 51
SEERRIUE T, | As, t=10cmPh F 1.2 13.0 0.2 0.4 0.6 154 | m’ 15
AT Btk #E 1 1.0 3.8 0.1 0.1 0.5 5.5 [ m’ 6
W REL L RC-40 0.8 2.0 0.1 0.1 0.2 3.2 | m’ 3
MW REL T 1 0.2 0.2 | m’ 0.2
B gy WHE 1+ 1.0 3.8 0.1 0.1 0.5 55| m® 6
ST 1.0 3.8 0.1 0.1 0.5 55| m’ 6
FRURALEE As 0.05 0.52 0.01 0.01 0.02 0.6 | m’ 0.6
FRBRAL S As 0.05 0.52 0.01 0.01 0.02 0.6 | m’ 0.6
TGV - L5y T 0.004 | 0.040 |  0.001 0.001 0.002 0.048 [ m® 0.05
g T RC-40, t=15cm 1.2 13.0 0.2 0.4 14.8 | m® 15
AR T RC-40, t=16cm 0.6 0.6 | m° 0.6
RAE 1A L FAEZREAS(13) t=3cm 1.2 13.0 0.2 0.4 0.6 15.4 | m® 15
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+TH47° | RER1-8 il As PP ¢ 25 DP=0.80m
+ It E = 2.0 = 2.0 m
(1 EREH)
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4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 2.0 m 4.0
SEERRIE T As, t=10cmPL T 0.60 X 2.0 m? 1.2
| OE T Bk e L 0.60 X 0.794 X 2.0 m’ 1.0
HBRLT RC-40 ( 0.60 X 0654 — 0.034 2 X x,/4)X 2.0 m® 0.8
HDREL T i -
M RELT b
P Wi R
Py WHE T 1.00 — + 09 m® 1.00
FESRALEL As 060 X 004 X 2.0 m’ 0.05
FEH As m® 0.05
TEUREE - ALy T 0.023 X 0.04 X 4.0 m’| 0.004
WA T RC-40, t=15cm 0.60 X 2.0 m? 1.2
AR EEAS(13)
AR T t=3cm 0.60 X 2.0 m? 1.2
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(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
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i
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i
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Al T As, t=15cmbA F 2.00 X 21.6 m 43.2
St i T As, t=10emLL T 0.60 X 21.6 m? 13.0
| OE T Bk e L 0.60 X 0.294 X 21.6 m’ 3.8
D FELL RC-40 ( 060 X 0154 — 0.034 2 X =n,/4)X 216 |m’ 2.0
HDREL T WA
D FELL b
EEl Wi R
Py WHE T 380 — + 09 m® 3.80
FESRALEL As 0.60 X 004 X 21.6 m’ 0.52
FEH As m® 0.52
TEUREE - ALy T 0.023 X 0.04 X 43.2 m’ | 0.040
A T RC-40, t=15cm 0.60 X 21.6 m? 13.0
AR EEAS(13)
REIRT t=3cm 0.60 X 21.6 m? 13.0
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i
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i
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4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 0.3 m 0.6
SEERRIE T As, t=10cmPL T 0.60 X 0.3 m? 0.2
| OE T Bk e L 0.60 X 0.632 X 0.3 m’ 0.1
HBRLT RC-40 ( 0.60 X 0492 — 0.022 2 X x,/4)X 0.3 m® 0.1
HDREL T i -
M RELT b
P Wi R
Py W+ 0.10 — + 09 m® 0.10
FESRALEL As 060 X 004 X 0.3 m’ 0.01
FEH As m® 0.01
TEUREE - ALy T 0.023 X 0.04 X 0.6 m’| 0.001
WA T RC-40, t=15cm 0.60 X 0.3 m? 0.2
AR EEAS(13)
AR T t=3cm 0.60 X 0.3 m? 0.2
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+ T ¥ & %
+Ta47° | ER1-13 Wl As PP ¢ 13 DP=0.30m
+ It E = 0.6 = 0.6 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
S "\ ! ¢ 8
[
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D15 0.022
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
i
i
i
D _
i o
i
i
i
( 0.6 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 0.6 m 1.2
SEERRIE T As, t=10cmPL T 0.60 X 0.6 m? 0.4
| OE T Bk e L 0.60 X 0.282 X 0.6 m’ 0.1
HBRLT RC-40 ( 0.60 X 0142 — 0.022 2 X xn,/4)X 0.6 m® 0.1
HDREL T i -
M RELT b
P Wi R
Py W+ 0.10 — + 09 m® 0.10
FESRALEL As 060 X 004 X 0.6 m’ 0.01
FEH As m® 0.01
TEUREE - ALy T 0.023 X 0.04 X 1.2 m’| 0.001
WA T RC-40, t=15cm 0.60 X 0.6 m? 0.4
AR EEAS(13)
AR T t=3cm 0.60 X 0.6 m? 0.4
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+ T ¥ & %
+Ta47° | FE12 Wl As VP ¢ 25 DP=0.80m
+ TR = 1.0 = 1.0 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
i A
| W [#fliE]_0.600
a ! D1 [&s&[ 0.034
= g ° RN BRM — DP [ 4w [ 0.800
i RC-40 < Hi |4miiE| 0.834
H2 | #EHI&] 0.794
hl | #EHM| 0.310
v h W wml 0.393
8 D2 |#4hE[ 0.093
B =1
— \ N| o
Yy 00000
| o
!
w
( 1.0 m H7=v%aE)
4 PR IR N NI A 7 = . BN &
AL T As, t=15embL T 2.00 X 1.0 m 2.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.0 m? 0.6
| OE T Bk RYE (060 X 0.794 — 0.034 2% X z,/4)X 1.0 m’ 0.5
WL RC-40 0.60 X 0.310 X 1.0 m® 0.2
HDREL T i -
O RELT b ( 060 X 0.393 — 0.093 2 X x,/4)X 1.0 m’ 0.2
P Vi R
Py wE+ 0.50 — + 09 m® 0.5
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TG TR - LS T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR AS(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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1I-1TR JEkRe &4 -8 (FBh)

g 1 Je OF B K

4 Hitk OB WA
[&#1]
GHl
PEFFL O#FEITTE | 675X ¢ 75 X 1 1 &
.
WA TE AR ¢ 75X ¢ 65 x 1 1 L[E]
R TV EE | ¢ 75X 100 X 1 1 ZN
e
R KRR EE | 450 X 350-200 X 1 1 &
F RIS
T ARE | 450 X 350-50 X 1 2 &
AEA
TRV KRR 450 X 350-200 X 1 1 1
CHEHA
I ARRE | 450X 350-100 X 1 1 &
ATT
TR | 680 X200-40 X 1 1 1
(%]
ERE ST
WRARRRE T 1 x 1 1 s
T fFE T ¢ 75 2 u]
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